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jlk;u foKkujlk;u foKkujlk;u foKkujlk;u foKku    
CHEMISTRY 

HkkxHkkxHkkxHkkx – II 
PART – II 

¼¼¼¼oLrqfu"BoLrqfu"BoLrqfu"BoLrqfu"B    iz'u½iz'u½iz'u½iz'u½ 

(Objective Questions) 

ACADEMIC/OPEN 

[ fgUnh ,oa vaxzsth ek/;e ] 

[ Hindi and English Medium ] 

(Only for Fresh/Re-appear Candidates) 

•••• Ñi;k tk¡p dj ysa fd HkkxHkkxHkkxHkkx–II ds bl iz'u-i= esa eqfnzr i`"B 8 rFkk iz'u 35 gSaA 

 Please make sure that the printed pages in this question paper of Part-II are 8 in 

number and it contains 35 questions. 

•••• ijh{kkFkhZ viuk jksy ua0 iz'u&i= ij vo'; fy[ksaA 

 Candidates must write their Roll Number on the question paper. 

•••• d`i;k iz'uksa dk mÙkj nsus lss iwoZ ;g lqfuf'pr dj ysa fd iz'u-i= iw.kZ o lgh gS] ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl 
lEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAlEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAlEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAlEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkA 

 Before answering the question, ensure that you have been supplied the correct and 

complete question paper, no claim in this regard, will be entertained after 

examination. 

lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %    

General Instructions : 

    (i)    lHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaA    

        All questions are compulsory.    

SET : C 
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    (ii) iz'u Øekad 1 ls 35 rd oLrqfu"B iz'u gSaA izR;sd iz'u 1 vad dk gSA funsZ'kkuqlkj bu iz'ukas ds 
mÙkj nhft,A 

        Questions from 1 to 35 are objective type questions. Each question is of 1 

mark. Answer of these questions may be given as per instructions. 

funsZ'funsZ'funsZ'funsZ'k %k %k %k %    fuEufyf[kr cgqfodYih; ç'uksa ds lghlghlghlgh fodYi pqfu, % 

  Select the correct option of the following multiple choice questions : 

1. ,d FCC ;wfuV lsy esa fdrus vkWDVkgsMªy okW;M gSa \ 1 

(A) 4  (B) 2 

(C) 6  (D) 12 

In a face centred unit cell (FCC) the number of Octahedral Voids : 

(A) 4  (B) 2 

(C) 6  (D) 12 

2. K4[Fe(CN)6] ds fy, okUV gkWQ QSDVj (i) dk eku gS % 1 

(A) 6  (B) 5 

(C) 4  (D) 'kwU; 

What is the value of Van't Hoff factor (i) for K4[Fe(CN)6] ? 

(A) 6  (B) 5 

(C) 4  (D) Zero 

3. LVSaMMZ gkbMªkstu bysDVªksM (SHE) ds fy, LVSaMMZ bysDVªksM iksVsaf'k;y gS % 1 

(A) – 0.5 V (B) + 1.0 V 

(C) 0.0 V (D) + 2.0 V 

Standard Electrode potential for Standard Hydrogen Electrode (SHE) is : 

(A) – 0.5 V (B) + 1.0 V 

(C) 0.0 V (D) + 2.0 V 
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4. ,d vfHkfØ;k dk osx O;atd osx = K[A]2 [B]–3/2 gS] bl vfHkfØ;k dh dksfV gksxh % 1 

(A) 3.0  (B) 0.5 

(C) 1  (D) –0.5 

Rate constant for a reaction is Rate = K[A]2 [B]–3/2 the order of reaction is : 

(A) 3.0  (B) 0.5 

(C) 1  (D) –0.5 

5. ,jkslkWy dksykbM eas ifj{ksi.k ek/;e gksrk gS % 1 

(A) ok;q  (B) ty 

(C) ,sYdksgkWy (D) csUthu 

Dispersion medium in Aerosol Colloid is : 

(A) Air  (B) Water 

(C) Alcohol (D) Benzene 

6. dkSu vf/kdre {kkjh; gS \ 1 

(A) PH3  (B) SbH3 

(C) NH3  (D) AsH3 

Which is most Basic ? 

(A) PH3  (B) SbH3 

(C) NH3  (D) AsH3 

7. gScj fof/k fdlds mRiknu ds fy, gS \ 1 

(A) H2SO4 (B) NH3 

(C) HCl  (D) O3 

Haber's process is used to prepare : 

(A) H2SO4 (B) NH3 

(C) HCl  (D) O3 
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8. dkSu&lk rRo mPpre vkWDlhdj.k voLFkk iznf'kZr djrk gS \ 1 

(A) Cr  (B) Mn 

(C) Fe  (D) Zn 

Which Element will show highest oxidation number ? 

(A) Cr  (B) Mn 

(C) Fe  (D) Zn 

9. fuEu esa ls mHk;narh fyxSUM dkSu gS \ 1 

(A) CO3
2– (B) CN – 

(C) NO3
–  (D) Br – 

Which is Ambidentate Ligand ? 

(A) CO3
2– (B) CN – 

(C) NO3
–  (D) Br – 

10. Sc3+ vk;u dk pqEcdh; vk?kw.kZ gS % 1 

(A) 1.73 BM (B) 0 BM 

(C) 5.92 BM (D) 2.83 BM 

What is the magnetic moment of Sc3+ ion ? 

(A) 1.73 BM (B) 0 BM 

(C) 5.92 BM (D) 2.83 BM 

11. [Cr(NH3)4Cl2]Cl esa Cr dh vkWDlhdj.k voLFkk gS % 1 

(A) +6  (B) +1 

(C) +3  (D) 'kwU; 

The oxidation number of Cr in [Cr(NH3)4Cl2]Cl  is : 

(A) +6  (B) +1 

(C) +3  (D) Zero 
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12. fuEu vfHkfØ;k dk D;k uke gS \ 1 

CuXNArCl
HClCu

XArN ++ →
−+

22

/
 

(A) di~fyax vfHkfØ;k (B) ckYt&'kheku vfHkfØ;k 

(C) xkVjeku vfHkfØ;k (D) ls.Meh;j vfHkfØ;k 

What is the name of this reaction ? 

CuXNArCl
HClCu

XArN ++ →
−+

22

/
 

(A) Coupling reaction (B) Balz-Schiemann Reaction 

(C) Gattermann reaction (D) Sendmeyer reaction 

13. fdldk DoFkukad vf/kdre gS \ 1 
(A) CH3CH2CH2CH2OH (B) CH3OH 

(C) CH3CH2CH2OH (D) CH3CH2OH 

Which has Highest Boiling point ? 

(A) CH3CH2CH2CH2OH (B) CH3OH 

(C) CH3CH2CH2OH (D) CH3CH2OH 

14. fuEu esa dkSu f}narqd fyxSUM gS \ 1 
(A) NH2CH2CH2NH2 (B) CO3

2– 

(C) NC –  (D) H2O 

Which one is Bidentate Ligand ? 

(A) NH2CH2CH2NH2 (B) CO3
2– 

(C) NC –  (D) H2O 

15. fuEu esa ls lcls de vEyh; gS % 1 

(A) C2H5OH (B) CH3COOH 

(C) C6H5OH (D) ClCH2COOH 
Which is Least Acidic ? 
(A) C2H5OH (B) CH3COOH 

(C) C6H5OH (D) ClCH2COOH 
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16. CH3CONH2 ,
/2 P
KOHBr

 →  P gksxk % 1 

(A) CH3CN (B) CH3NH2 

(C) CH3Br (D) CH3OH 

CH3CONH2 ,
/2 P
KOHBr

 →  P is : 

(A) CH3CN (B) CH3NH2 

(C) CH3Br (D) CH3OH 

17. dkSu&lk MkblSdsjkbM gS \ 1 

(A) LVkWpZ  (B) ÝDVksl 

(C) ysDVksl (D) lSywykst 

Disaccharide is : 

(A) Starch (B) Fructose 

(C) Lactose (D) Cellulose 

18. ,Utkbe gSa %  1 

(A) U;wfDyd ,flM (B) olk 

(C) dkcksZgkbMsªV~l (D) izksVhu 

Enzymes are : 

(A) Nucleic acids (B) Fats 

(C) Carbohydrates (D) Proteins 

funsZ'k %funsZ'k %funsZ'k %funsZ'k %    fuEufyf[kr ç'uksa ds mÙkj ,d,d,d,d    -nks nks nks nks 'kCnksa/okD;ksa esa nhft, %    

  Answer the following questions in one-two words/sentences : 

19. flfydkWu dks tc QkWLQksjl ds lkFk vifefJr djrs gSa rc fdl izdkj dk v)Zpkyd izkIr gksxk \ 1 

What type of semiconductor formed when Si is doped with P ? 
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20. vfHkfØ;k MnO4
– → Mn+2 ds fy, fdrus QSjkMs dh vko';drk gksxh \  1 

MnO4
– → Mn+2 for this reaction, how many Faraday are required ? 

21. D;k vfHkfØ;k dh vkf.odrk 'kwU; gks ldrh gS \ 1 

Is it possible that Molecularity of a reaction can be zero ? 

22. Zn2[Fe(CN)6] dk IUPAC uke fyf[k,A 1 

Write IUPAC name of Zn2[Fe(CN)6]. 

23. buesa ls dkSu SN
2 vfHkfØ;k rsth ls nsxk \ 1 

 CH3CH2CH2CH2I  o CH3CH2CH2CH2Cl 

Among CH3CH2CH2CH2I  and  CH3CH2CH2CH2Cl will show SN
2 reaction fast. 

24. izkFkfed] f}rh;d rFkk r`rh;d ,sYdksgkWyksa dh vEyrk dk Øe fyf[k,A 1 

Write acidic order of Primary, Secondary and Tertiary alcohols. 

25.               dk IUPAC uke fyf[k,A 1 

 

                     write its IUPAC name. 

 

26. nksnksnksnks foVkfeuksa ds uke fyf[k, tks oLkk esa foys; gSaA 1 

Write the names of two vitamins soluble in fats. 

funsZ'k %funsZ'k %funsZ'k %funsZ'k %    mi;qDr 'kCnksa ls fjDr LFkkuksa dh iwfrZ djsa %    

  Fill in the blanks by appropriate words : 

27. BCC tkyd esa ladqyu {kerk ………… izfr'kr gksrh gSA 1 

Packing efficiency in BCC crystal is ………… percent. 

O 

CH3 

O 

CH3 
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28. 5 xzke NaOH ds 500 feyh foy;u dh eksyyrk ………… gksxhA 1 

If 5 g NaOH dissolved in 500 ml solution the molality of solution will 

be ………… . 

29. vkorZ lkj.kh eas ………… lcls izcy _.k&fo|qrh rÙo gSA 1 

………… is the most Electronegative element in periodic table. 

30. ;fn 
2/1

693.0

t
K =  gS] rks vfHkfØ;k dh dksfV ………… gksxhA 1 

If 
2/1

693.0

t
K =  the order of reaction will be ………… . 

31. ,d mRizsjd lfØ;.k ÅtkZ dk ………… nsrk gSA 1 

A catalyst ………… the activation Energy. 

32. 
            CH–OH 

C

Cu

°

 →

300

pw.kZ  ………… . 1 

            CH–OH 
C

PowderCu

°

 →

300
 ………… . 

33. VkWysu vfHkdeZd ………… gSA 1 

Tollen's reagent is ………… . 

34. (C2H5)2NH o C2H5NH2 esa ls ………… vf/kd {kkjh; gSA  1 

Among (C2H5)2NH and C2H5NH2, ………… is more basic. 

35. vkj0 ,u0 ,0 eas ,sMsfuu] Xokuhu] lkbVksflu o ………… pkj {kkj gksrs gSaA 1 

In RNA, the four basis present are Adenine, Guanine, Cytosine and ………… . 

S 

CH3 

CH3 

CH3 

CH3 
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